S SL CMODEL QUESTION PAPER-5 FEBRUARY /MARCH-2020

SUB: FIRST LANGUAGE URDU i = st g
SUB JECT CODE-12U TIME : 3 hrs

CLASS: 10 ™ STANDARD Marks : 100

6X1=6-29L /. & K,Azu,)r-wég,;_,mdjpjtgziamyisw I

-u,tz.lgzi(#umg L e S H‘ »-1
F 0 (@) I O NN Y @)
e So R LI A L ai 2L 3 pEE1E 2
&) SA@) JEIL) & ()
AP o B LT A" 3
946) £ 1% (&) ()
—e U= Kl Jocsse S = U2 It 4
LG A A e da( )
S UM e L3 s
O] Je (@) £ (L) ()
-unL/LL")tJ)’JJuJ( 2SI 2 6
Be(s) Bem@)  AFer() AP
-é/cj.L}:ﬁ;ﬁ?jz.,wbﬁKc)mq_@rv/,ﬂ}z%)’u?u:uﬁ»% I
wthi 1 bl ua-T
o« AU es _8
& .:,gémf : di -9

¢ & G- 10




11X3=33

LB pLE G2l e st I
IS ETITE RSB
Sl PN LGN ar sun™ L Uglh 12
YU’E »A;TUTJ_M’.:«J;J:J? UJ 13
&2 Slbyur” Ul Jike 42 14

??.QJJM)TJU;J{@)‘&L{;!(/@-I 5
T U U A A -16
$ a6 £ Sr- 17

gL ozl dsts IV
el e NL S SUu-18
e Je L St et 3L FE 19
¢ &2 Tt e uuf 525120
te VLA AR Lot ot
& Yitr Lol 22
e UL S B s 23
tebatd U Uebusw 24
St id W AS LS s f S 25
e dbdetbu it S L 226
Gl < 162727
el gk 2 ludydits N
ool s LS SusH 00 28
"Lyl IS Ly 1S




"o 62t S wry S \f tRR" 29
"L e iod s et " 30

ST e A 566 2 31

PPN Y

Loy YR P
Sr s SI s 33
u;'zt'qlgkgmf J‘:" «r -34
Uyzt’qlg!.r( a.{’/ﬁ tf)lv’dﬁ'
in s LY ST 10y 35
LI st Al S ey
& 1 UM S Usse L5.000-36
ey «  tlaf 41 7

tutr” s LG a7

vl g & S L L s 38

L

?’&mt’f’w—.".’/? JOUW [ AT

-4“-’! 2 L dits w

Yé&@)/bﬁulgélizl L" " e MYIE-39

b

M o $FTL 2,

eal st ot A a T " a0




?;’"é APIK. .:«U.lg'z;.l ol ACG/ »:uid/: /,;JU pl 52 <41
?§.l:'lgb‘v(u,{gfn—gdy»£u;::ﬁf?» 3/’.;,‘!_42
L
Y.L.L/.)lﬁjlgy:—:«;bﬂu’bi_jr”J#ZL)@J}’LCI»’I =z
el ety Ll g mia e i g S5 43
U:’G\.{l ar 1 9522f.Lz,;é:),@}"'ﬂ-m&/“,.uﬁlK“u’g:w"iéd}’fﬁ‘fuﬁu
d[‘fddl)djh&ﬂ-uﬁgé.ﬁ:«15?1;4:451)uf,.aa?él{f'LJ}LJgLUf)fJJﬂg L/u’.l;
Py UU;LJ}/ =l /’7 MLl ey Ly ﬁ(ﬁ 15000 Jé./kz-wé_,vb‘«g/ Gb(
-‘45}}; r; J:le‘:‘.A;l,g,d/ e S e sesnifelJ lulﬂh«rﬁ@f-‘guﬁslﬁ?{: /"él
-‘:L‘lglmu.’/.df'.;lljhl},)é:/.fu’lt/:}ﬂ?d/u“l
= Uy
?ﬂ;rtyf,,uﬁumlé@ﬂgié&) LU?’;J)-I
?wg.JLJJ))4:a§J( U2
s (8 e P S onenB sl o imls v
tnfempndibes S e St P i L b 44
L
S S S et R 215 LIt Lo s s

H & o s vin

L seg Bty (1

uuﬁfng 2




